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r O g
Tn the following figure find the last value of the force (F) that will just start the

ider each block

system of blocks moving to the right. The coefficient of frictios
is (0.2).

ring to f re shown
calculate only two from the followi
1-The 2 fon of the blocks.

2-The velocity of the 2 kg block after 3 s from rest. ) b ]

3-The tension in the cord. 2 kg

ssuming smooth surfaces and frictionless. Pulley,

06:
A) Pump heightens water at a rate 5000 kg/ min. The deep of the water (23 m).
Find the horse-power of the pump.

(10 mark)

B) At

its motion and (18 m) during the (12th) s of its motion. Find its initial velocit

moving with constant acceleration travels (24 m) during the (10th)s of

(10 mark

GOOD LUCK

Sad!a
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2X + Y+Z =7
X-4Y+Z=1

e =2t

) ¥ = —sinx)? (2) y = 1250 3)y = Sin®(Inx)

X + sinx

(5) y = Tanx Cos*x
tanx

Log7 | Log9 [ Logé [Log125:6 Log125.57 [ Log125 7]
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Scientific Research

AL-Furat AL-Awsat Technical University
Technical Institute
Mec

ation

Subject: Machine Parts
Time : 3 Hours
Date :2/4/2018

Samawa

I Department /Second Year

Final Examin

tion (2017/2018) ( Fest) attempt (1)
NOTE / Answer four equations only & by using pencil

Q1 : A steel rod of 24 mm diameter
Pull of 100 KN

is subjected to an axial

Find the stress , strain and elongation of the bar, if
the modulus of clasticity is 210 KN/ mm*

Q2: A plate 140 mm wid
by me:

(25 mark)
and 16 mm thick is to be welded to another plate
ns of single transverse fillet welds . The plates are subjected to a

load of 60 KN. Find the length of the weld so that the shear stress is
60 N/ mm®,

( 25 mark)
Q3:

1- What are the various types of spring with sketches.
Define the terms : . bolt

(10 mark )
(15 mark )

 stress s pitch.

Q4 : Find the diamet

wire and the effective coils for
carry a load of 900 N with a deflect

be taken as 5. Assume the followin;
Maximum she 0 N/ mm

Modulus of rigidity = 84 KN /mm’,

compressiof
n of 30 mm . The spring

ues for the spring mate

heical to
dex may

marks )
Qs

A cylinder head of a steam
diameter of the eylinder is 300 mn
Find the size of the bolts if the ten:

is held on by 10 bolts . The effective
and the steam pressure is 1.5 N/ mm’,
stress is not to exceed 40 N/ mm?,

(25 marks )

GOOD LUCK

he

er
aber . M . Jaber
(ass. teacher)
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Ministry of Higher Education Subject: Mechanics &
& Scientific Research Time : 3 Hours
AL-Furat AL-Awsat Technical University Date : 2/9/2018

Technical Institute / Samawa
Mechanical Department /First Year
Final Examination (2017/2018) (S€Gnd) attempt (3)

nswer Five questions only. the writing by using pencil

0l

Determine the magnitude, direction and point of application of the resultant for
the system of forces shown in the following figure

600N

300N 900 N

¢
Find the position of the centroid for the shaded area shown in the followit I3
figure with respeet to (x-y) axis. Y

s

(20 mark)

03

Simply supported beam of length (5 m) was loaded by concentrated load of
(20KN) as shown in the following figure,
bending moment di; 5.

Draw complete shear force and
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nswer Five questions only. the writing by using pencil

0l

Determine the magnitude, direction and point of application of the resultant for
the system of forces shown in the following figure

600N

300N 900 N

¢
Find the position of the centroid for the shaded area shown in the followit I3
figure with respeet to (x-y) axis. Y

s

(20 mark)

03

Simply supported beam of length (5 m) was loaded by concentrated load of
(20KN) as shown in the following figure,
bending moment di; 5.

Draw complete shear force and





